
AX1524 

Sherco 250/300 SEF-R 

Skid Plate 6mm 

2 NE01-11-001 - Screws 6x25mm 

3 NE01-04-002 - Clamped bolt 

1 NE01-02-005 - Tfhc 6x35mm 

1 NE04-01-175 - Sticker 

Tfhc 6x35mm 

Screw 6x25mm 

AX1524 

Sherco 250/300 SEF-R 

Skid Plate 6mm 

2 NE01-11-001 - Screws 6x25mm 

3 NE01-04-002 - Clamped bolt 

1 NE01-02-005 - Tfhc 6x35mm 

1 NE04-01-175 - Sticker 

Tfhc 6x35mm 

Screw 6x25mm 


